
independent SERVICE CENTRE

AIRCRAFT ENGINES

RTX

 

EP

AV

CS

IN

EL

AV

TO

PS

BV

28 1-800-247-9653  •  225 Airport Circle, Corona, CA Prices Subject to Change Without Notice

912 iSERIES ENGINE

EXTERNAL GENERATOR F3A
(ALL PARTS OPTIONAL)

Item
No. Part No Description Qty.

Req. Price

1-21 887-254 ALTERNATOR SET 1 $1,644.50
1 980-590 V-BELT PULLEY 1 $395.80
2 980-400 V-BELT 9.5X675 1 $31.26
3 980-605 PULLEY CARRIER 2 $127.31
4 840-511 ALLEN SCREW M5X16 8 $0.48
5 945-750 LOCK WASHER A5 8 CALL
6 953-222 ALTERNATOR BRACKET ASSEMBLY 1 $438.86
7 240-071 ALLEN SCREW M8X20 2 $1.23
8 845-310 LOCK WASHER 8 2 $0.41
9 953-232 ALTERNATOR SUPPORT ASSEMBLY 1 $243.30

10 241-761 ALLEN SCREW M6X50 2 $0.85
11 945-751 LOCK WASHER A6 2 $0.21
12 827-961 WASHER 6,4 2 $0.31
13 887-251 ALTERNATOR F3A 1 $1,394.06
14 927-952 THRUST WASHER 10,1/20/0,5 1 $4.78
15 941-636 HEX. SCREW M10X45 1 $13.77
16  953-241 TENSION BAR 1 $83.34
17 940-596 HEX. SCREW M8X2 2 $11.47
18 945-752 LOCK WASHER A8 2 $0.21
19 227-935 WASHER 8,4 2 $1.76
20 864-011 FASTON CONNECTOR 6,3X0,8 2 $1.23
21 265-255 CONNECTOR HOUSING 2-POLE 1 $7.84

- Items not illustrated

Item
No. Part No Description Qty.

Req. Price

1 611-594 IGNITION HOUSING ASSEMBLY 1 $1,718.44
2 827-220 WASHER 32/38/1.5 1 $17.56
3 230-427 OIL SEAL GPRE 28x38x7 FKM 1 $7.30

4-5 966-572 CRANKSHAFT POSITION SENSOR 2 $182.35
5 431-580 O-RING 17.17x1.78 FPM 70 2 $7.30
6 945-831 LOCK WASHER A6 3 $0.23
7 241-930 ALLEN SCREW M6x20 2 $0.57
8 853-412 CABLE CLAMP 3 $5.69
9 685-065 STATOR ASSEMBLY 1 CALL

10 840-792 STUD M5x44 1 CALL
11 947-510 DISTANCE SLEEVE 1 $34.01
12 938-080 DISK SPRING 15x5.2x0.7 6 $1.78
13 827-240 WASHER 5.1/15.5/2.5 1 $26.43
14 842-033 LOCK NUT M5 1 $0.35
15 840-820 ADJUSTMENT SCREW M4x8 1 CALL
16 685-070 MAGNETO FLYWHEEL ASSEMBLY 1 $645.21
17 827-800 WASHER A 5.5 6 $5.99
18 940-881 ALLEN SCREW M5x30 6 $0.57
19 840-036 ALLEN SCREW M6x12 6 $1.78
20 831-929 O-RING 5x2 See chap. 72-20-00 1 $4.54
21 827-962 WASHER 6.4 7 $0.31
22 840-888 ALLEN SCREW M6x30 5 $0.63
23 241-762 ALLEN SCREW M6x50 2 $0.94
24 941-791 ALLEN SCREW M5x45 2 $1.08
25 942-311 HEX. NUT M5 2 $20.67

- Items not illustrated

IGNITION HOUSING, STATOR, RECTIFIER 
REGULATOR, CRANKSHAFT POSITION
SENSOR ASSEMBLY

https://www.cps-parts.com/catalog/pnpages/800-247.php
https://www.cps-parts.com/catalog/pnpages/887-254.php
https://www.cps-parts.com/catalog/pnpages/980-590.php
https://www.cps-parts.com/catalog/pnpages/980-400.php
https://www.cps-parts.com/catalog/pnpages/980-605.php
https://www.cps-parts.com/catalog/pnpages/840-511.php
https://www.cps-parts.com/catalog/pnpages/945-750.php
https://www.cps-parts.com/catalog/pnpages/953-222.php
https://www.cps-parts.com/catalog/pnpages/240-071.php
https://www.cps-parts.com/catalog/pnpages/845-310.php
https://www.cps-parts.com/catalog/pnpages/953-232.php
https://www.cps-parts.com/catalog/pnpages/241-761.php
https://www.cps-parts.com/catalog/pnpages/945-751.php
https://www.cps-parts.com/catalog/pnpages/827-961.php
https://www.cps-parts.com/catalog/pnpages/887-251.php
https://www.cps-parts.com/catalog/pnpages/927-952.php
https://www.cps-parts.com/catalog/pnpages/941-636.php
https://www.cps-parts.com/catalog/pnpages/953-241.php
https://www.cps-parts.com/catalog/pnpages/940-596.php
https://www.cps-parts.com/catalog/pnpages/945-752.php
https://www.cps-parts.com/catalog/pnpages/227-935.php
https://www.cps-parts.com/catalog/pnpages/864-011.php
https://www.cps-parts.com/catalog/pnpages/265-255.php
https://www.cps-parts.com/catalog/pnpages/611-594.php
https://www.cps-parts.com/catalog/pnpages/827-220.php
https://www.cps-parts.com/catalog/pnpages/230-427.php
https://www.cps-parts.com/catalog/pnpages/966-572.php
https://www.cps-parts.com/catalog/pnpages/431-580.php
https://www.cps-parts.com/catalog/pnpages/945-831.php
https://www.cps-parts.com/catalog/pnpages/241-930.php
https://www.cps-parts.com/catalog/pnpages/853-412.php
https://www.cps-parts.com/catalog/pnpages/685-065.php
https://www.cps-parts.com/catalog/pnpages/840-792.php
https://www.cps-parts.com/catalog/pnpages/947-510.php
https://www.cps-parts.com/catalog/pnpages/938-080.php
https://www.cps-parts.com/catalog/pnpages/827-240.php
https://www.cps-parts.com/catalog/pnpages/842-033.php
https://www.cps-parts.com/catalog/pnpages/840-820.php
https://www.cps-parts.com/catalog/pnpages/685-070.php
https://www.cps-parts.com/catalog/pnpages/827-800.php
https://www.cps-parts.com/catalog/pnpages/940-881.php
https://www.cps-parts.com/catalog/pnpages/840-036.php
https://www.cps-parts.com/catalog/pnpages/831-929.php
https://www.cps-parts.com/catalog/pnpages/72-20-00.php
https://www.cps-parts.com/catalog/pnpages/827-962.php
https://www.cps-parts.com/catalog/pnpages/840-888.php
https://www.cps-parts.com/catalog/pnpages/241-762.php
https://www.cps-parts.com/catalog/pnpages/941-791.php
https://www.cps-parts.com/catalog/pnpages/942-311.php
https://www.cps-parts.com/catalog/pnpages/953-241.php
https://www.cps-parts.com/catalog/pnpages/230-427.php
https://www.cps-parts.com/catalog/pnpages/827-220.php
https://www.cps-parts.com/catalog/pnpages/840-036.php
https://www.cps-parts.com/catalog/pnpages/941-791.php
https://www.cps-parts.com/catalog/pnpages/241-762.php
https://www.cps-parts.com/catalog/pnpages/241-762.php
https://www.cps-parts.com/catalog/pnpages/840-888.php
https://www.cps-parts.com/catalog/pnpages/241-930.php
https://www.cps-parts.com/catalog/pnpages/241-930.php
https://www.cps-parts.com/catalog/pnpages/241-930.php
https://www.cps-parts.com/catalog/pnpages/840-820.php
https://www.cps-parts.com/catalog/pnpages/940-881.php
https://www.cps-parts.com/catalog/pnpages/938-080.php
https://www.cps-parts.com/catalog/pnpages/827-240.php
https://www.cps-parts.com/catalog/pnpages/947-510.php
https://www.cps-parts.com/catalog/pnpages/827-962.php
https://www.cps-parts.com/catalog/pnpages/827-962.php
https://www.cps-parts.com/catalog/pnpages/827-962.php
https://www.cps-parts.com/catalog/pnpages/945-831.php
https://www.cps-parts.com/catalog/pnpages/945-831.php
https://www.cps-parts.com/catalog/pnpages/945-831.php
https://www.cps-parts.com/catalog/pnpages/842-033.php
https://www.cps-parts.com/catalog/pnpages/831-929.php
https://www.cps-parts.com/catalog/pnpages/827-800.php
https://www.cps-parts.com/catalog/pnpages/853-412.php
https://www.cps-parts.com/catalog/pnpages/942-311.php
https://www.cps-parts.com/catalog/pnpages/685-070.php
https://www.cps-parts.com/catalog/pnpages/611-594.php
https://www.cps-parts.com/catalog/pnpages/840-511.php
https://www.cps-parts.com/catalog/pnpages/941-636.php
https://www.cps-parts.com/catalog/pnpages/241-761.php
https://www.cps-parts.com/catalog/pnpages/240-071.php
https://www.cps-parts.com/catalog/pnpages/864-011.php
https://www.cps-parts.com/catalog/pnpages/265-255.php
https://www.cps-parts.com/catalog/pnpages/940-596.php
https://www.cps-parts.com/catalog/pnpages/940-596.php
https://www.cps-parts.com/catalog/pnpages/927-952.php
https://www.cps-parts.com/catalog/pnpages/227-935.php
https://www.cps-parts.com/catalog/pnpages/945-751.php
https://www.cps-parts.com/catalog/pnpages/827-961.php
https://www.cps-parts.com/catalog/pnpages/945-752.php
https://www.cps-parts.com/catalog/pnpages/945-752.php
https://www.cps-parts.com/catalog/pnpages/887-254.php
https://www.cps-parts.com/catalog/pnpages/980-400.php
https://www.cps-parts.com/catalog/pnpages/980-605.php
https://www.cps-parts.com/catalog/pnpages/853-412.php
https://www.cps-parts.com/catalog/pnpages/953-222.php
https://www.cps-parts.com/catalog/pnpages/845-310.php
https://www.cps-parts.com/catalog/pnpages/953-232.php
https://www.cps-parts.com/catalog/pnpages/887-251.php
https://www.cps-parts.com/catalog/pnpages/227-935.php

